Quiz 4 Cale 3 11/26/2002

. Compute _[ F - dr for the vector ficld F(x,v= :r‘ i + 3%y j where C is the tap half of a circle

centered at the origin beginning at (2,0) and ending at (-2,00.
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2. Let F(x,¥) = -yi + xj. Compute .[q F-dr for Cthe line segment beginning at (1,0) and ending

at (2,3).
BT ey, L e ey
":Jﬁ'-]- sl {:'lr:n-'- |
'I':'-"i"ll ';E 'I:"Jli Lo rn-.-'-.'J' (AT I-‘Hn:’-ﬂ'l-‘-_‘-l.qh'|
Hhaovd i,
=] e i
2 + Os Lk & |
z 4
y: 013

pleYs Zive, 325 ﬁjiﬂ% /

Ftu:f;}“h il iy :
'rif'ﬁé“].l_:_;_t, 3

(e _I ?:__1 e R R

sl s Gmiiey g
=2 i3y
= Ta7],
=i = D = [3',._



